How does a X-Ray Telescope work?
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X-ray photons are highly

energetic (small wavelength), srmoumT
which means they can g
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_ Surfaces X-ray telescopes need to have

- mirrors that are made of material
that will reflect an X-ray photon
and heed to be oriented such that
B the X-rays hit the mirror at that”
grazing incidenc.e. :
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of the telescope where the mirror i

used to be, sothe telescope mMisses  Fieldofview - -

a lot of X-rays. . ﬁ - -

To solve this problem, X-ray - b
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telescopes use cylindrical mirrors
and nest them, one inside the
other. The final coILecting sirface
depends on the number of nested
layers. :
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Mirror elements are 0.8 m long and from 0.6 m to 1.2 m diameter
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XMM- Newton mirror module, an
* example of nested layers.
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